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QUESTION 1

Text is sent to the SAS compiler as a result of macro execution. Which one of the following SAS System options writes
that text to the log? 

A. MPRINT 

B. MLOGIC 

C. MSOURCE 

D. SOURCE2 

Correct Answer: A 

 

QUESTION 2

Given the following SAS data sets ONE and TWO: 

ONE TWO 

YEAR QTR BUDGET YEAR QTR SALES 

------------------------------ ---------------------------- 2001 3 500 2001 4 300 

2001 4 400 2002 1 600 

2002 1 700 

The following SAS program is submitted: 

proc sql; 

select one.*, sales 

from one, two; 

quit; 

Which one of the following reports is generated? 

A. YEAR QTR BUDGET SALES 

2001 4 400 300 

2002 1 700 600 

B. YEAR QTR BUDGET SALES 

2001 3 500 . 

2001 4 400 300 
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2002 1 700 600 

C. YEAR QTR BUDGET SALES 

2001 3 500 300 

2001 4 400 300 

2002 1 700 600 

D. YEAR QTR BUDGET SALES 

2001 3 500 300 

2001 4 400 300 

2002 1 700 300 

2001 3 500 600 

2001 4 400 600 

2002 1 700 600 

Correct Answer: D 

 

 

QUESTION 3

The following SAS FORMAT procedure is submitted: 

proc format lib = sasuser; 

value tempc low 

0 

5 

10 

15 high = \\'HOT\\'; 

run; 

How is the value 10 displayed when the format TEMPC is applied? 

A. 10 

B. MILD 

C. WARM 

D. BELOW FREEZING 
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Correct Answer: C 

 

 

QUESTION 4

Given the following SAS data set SASUSER.HIGHWAY: 

SASUSER.HIGHWAY 

STEERING SEATBELT SPEED STATUS COUNT 

------------------------------------------------------------------------ absent no 0-29 serious 31 

absent no 0-29 not 1419 

absent no 30-49 serious 191 

absent no 30-49 not 2004 

absent no 50+ serious 216 

The following SAS program is submitted: 

%macro highway; 

proc sql noprint; 

select count(distinct status) 

into :numgrp 

from sasuser.highway; 

%let numgrp = andnumgrp; 

select distinct status 

into :group1-:groupandnumgrp 

from sasuser.highway; 

quit; 

%do i = 1 %to andnumgrp; 

proc print data = sasuser.highway; 

where status = "andandgroupandi" ; 

run; 

%end; 

%mend; 
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%highway 

How many reports are produced by the above program? 

A. 0 

B. 1 

C. 2 

D. 5 

Correct Answer: C 

 

 

QUESTION 5

Which one of the following SAS programs uses the most amount of memory resources for output buffers? 

A. data new(bufsize = 1000 bufno = 5); set temp; run; 

B. data new(bufsize = 1000 bufno = 2); set temp; run; 

C. data new(bufsize = 2000 bufno = 3); set temp; run; 

D. data new(bufsize = 4000 bufno = 1); set temp; run; 

Correct Answer: C 

Latest A00-202 Dumps A00-202 PDF Dumps A00-202 Practice Test

Powered by TCPDF (www.tcpdf.org)

Latest A00-202 Dumps | A00-202 PDF Dumps | A00-202 Practice Test                                5 / 5

https://www.pass4itsure.com/a00-202.html
https://www.pass4itsure.com/a00-202.html
https://www.pass4itsure.com/a00-202.html
http://www.tcpdf.org
https://www.pass4itsure.com/a00-202.html
https://www.pass4itsure.com/a00-202.html
https://www.pass4itsure.com/a00-202.html

